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502 – TAX PLANNING AND MANAGEMENT 
 
 

Time :  3 Hours]  [Max. Marks : 70 
 

ÍÛæ̃ Û¶ÛÛ  ƒ (1) ¾ÛÛ×•ýÛÛ ¾Ûä›÷¼Û¶ÛÛ Í¸ÛÌ¤ø ›÷ÈÛÛ¼Û …¸ÛéÜ“Û©Û ™öé.  

  (2) ¸ÛóÊ¶Û¶Ûà ›÷¾Û¨Ûà ¼ÛÛ›ä÷…é ïõÛíêÍÛ¾ÛÛ× þùÉÛÛÙÈÛéÅÛ …×ïõ ÍÛÛ˜ÛÛ ›÷ÈÛÛ¼Û¶ÛÛ ¾ÛÐü«Û¾Û •Ûä¨Û þùÉÛÛÙÈÛé ™öé.  

  (3) ›÷ÄõÁõà •Û¨Û©ÛÁõà ›÷ÈÛÛ¼Û¶ÛÛé ½ÛÛ•Û •Û¨ÛÛÉÛé.  

  (4) ïéõ¤øÅÛÛïõ …×•Ûóéœ÷ ÉÛ¼þù-¸ÛóýÛÛé•Û¶ÛÛ Í¸ÛÌ¤ø •Ûä›÷ÁõÛ©Ûà ¸ÛýÛÛÙýÛ Š¸ÛÅÛ¼µÛ ¶Û ÐüÛéˆ, ¸ÛóÊ¶Û¶Ûà ÍÛÛ˜Ûöà 

ÍÛ¾Û›÷ ¾ÛÛ¤éø …×•Ûóéœ÷ ÉÛ¼þù-¸ÛóýÛÛé•Û µýÛÛ¶Ûé ÅÛéÈÛÛé.  

  (5) ¸ÛóÊ¶Û¸ÛªÛ¾ÛÛ× þùÉÛÛÙÈÛéÅÛ ïõÅÛ¾ÛÛé/¸Ûé¤øÛ ïõÅÛ¾ÛÛé …ÛÈÛïõ ÈÛéÁõÛ µÛÛÁõÛé, 1961 ¾Ûä›÷¼Û¶Ûà ™öé.  

 

1. (…) ŠþùÛÐüÁõ¨Û ÍÛÛ¬Ûé ÍÛ¾Û›ÛÈÛÛé : ïõÁõ ˜ÛÛéÁõà, ïõÁõ ¤øÛÇ¨Û, ïõÁõ …ÛýÛÛé›÷¶Û  7 

             …¬ÛÈÛÛ  

 (…) ÈýÛÜî©Û•Û©Û ïõÁõþùÛ©ÛÛ ¾ÛÛ¤éø ïõÁõ …ÛýÛÛé›÷¶Û¶ÛÛ Ðéü©Ûä…Ûé …¶Ûé ©Ûé ¾ÛÛ¤éø¶Ûà ¸Û±ùÜ©Û…Ûé ›÷¨ÛÛÈÛÛé.  

 (¼Û) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé  ƒ (•Û¾Ûé ©Ûé ¼Ûé) 4 

  (1) ÍÛ¾Û›ÛÈÛÛé  ƒ ÁõÐéü¥øÛ¨Û¶ÛÛ× …ÛµÛÛÁéõ ÐüÛé°ùÛé …¶Ûé ïõÁõ …ÛýÛÛé›÷¶Û  

  (2) ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé  ƒ ½ÛÛÁõ©Û¶ÛÛ× Ü¼Û¶Û-ÁõÐüàÉÛ ïéõÈÛà Áõà©Ûé ïõÁõ …ÛýÛÛé›÷¶Û ïõÁõà ÉÛïéõ ? 

  (3) ïõÁõ ¤øÛÇ¨Û¶Ûà ÍÛÁõïõÛÁõ ¸ÛÁõ …ÍÛÁõÛé.  

 (ïõ) ¼Ûé ïéõ ªÛ¨Û ÈÛÛîýÛÛé¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé  ƒ (•Û¾Ûé ©Ûé ªÛ¨Û) 3 

  (1) ÍÛ¾Û›ÛÈÛÛé  ƒ ïõÁõ ¤øÛÇ¨Û ïõÛýÛþéùÍÛÁõ ™öé ¸ÛÁ×õ©Ûä ¶ÛíéÜ©Ûïõ ¶Û¬Ûà.  

  (2) ÍÛ¾Û›ÛÈÛÛé  ƒ ïõÁõ …ÛýÛÛé›÷¶Û ïõÁõ¶Ûà ›÷ÈÛÛ¼ÛþùÛÁõà –Û¤øÛ¦øà ÉÛïéõ.  

  (3) ÍÛ¾Û›ÛÈÛÛé  ƒ ïõÁõÈÛéÁõÛ¶ÛÛé ÿ˜ÛÛé þùÁõ ïõÁõ˜ÛÛéÁõà¶Ûé …Û¾Û×ªÛé ™öé.  

  (4) ÍÛ¾Û›ÛÈÛÛé  ƒ ïõÁõ ÍÛ×˜ÛÛÅÛ¶Û  
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2. (…) ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛÛ ½Û¬¬ÛÛ×/ÍÛÈÛÅÛ©ÛÛé/ÅÛÛ½Û/ÈýÛÈÛÐüÛÁõ …×•Ûé ¾ÛÛÜÅÛïõ (ïõ¾ÛÙ˜ÛÛÁõà¶Ûà ©ÛÁõºéõ¨Û¾ÛÛ×) …¬ÛÈÛÛ 

ÈýÛÜî©Û•Û©Û ïõÁõþùÛ©ÛÛ ïéõÈÛà Áõà©Ûé …ÍÛÁõïõÛÁõïõ ïõÁõ …ÛýÛÛé›÷¶Û ïõÁõà ÉÛïéõ ? 7 

  (1) ÈÛ¸ÛÁõÛýÛéÅÛà Ü¾ÛÅÛïõ©Û¶Ûä× ïõ¾ÛÙ˜ÛÛÁõà¶Ûé ÈÛé˜ÛÛ¨Û  

  (2) þùÛî©ÛÁõà ½Û¬¬ÛÛ×¶ÛÛ ÜÈÛïõÅ¸Ûé þùÛî©ÛÁõà ÍÛÛÁõÈÛÛÁõ 

  (3) ¾ÛÛÜÅÛïõ¶Ûà ¾ÛÛÜÅÛïõà¶Ûà …¶Ûé / …¬ÛÈÛÛ ¾ÛÛÜÅÛïõ ³ùÛÁõÛ ÍÛ×˜ÛÛÜÅÛ©Û ÉÛíé“ÛÜ¨Ûïõ ÍÛ×Í¬ÛÛ¾ÛÛ× ïõ¾ÛÙ˜ÛÛÁõà¶ÛÛ 

ÍÛ×©ÛÛ¶ÛÛé¶Ûé ÜÉÛ“Û¨Û 

  (4) ¾ÛÛ¶ýÛ ½ÛÜÈÛÌýÛ Ü¶ÛÜµÛ¾ÛÛ× ºõÛÇÛé 

  (5) Áõ›Û ¸ÛóÈÛÛÍÛ ÁõÛÐü©Û ½Û¬¬Ûä× 

  (6) ½ÛÛé›÷¶Û ¾ÛÛ¤éø¶ÛÛ ½Û¬¬ÛÛ×¶ÛÛ ÜÈÛïõÅ¸Ûé ½ÛÛé›÷¶Û¶Ûà ïæõ¸Û¶Û 

  (7) Í¤øÛéïõ …Ûé¸ÍÛ¶Û : ¼ÛÛé¶ÛÍÛ¶ÛÛ ÜÈÛïõÅ¸Ûé ÉÛéÍÛÙ.  

              …¬ÛÈÛÛ  

 (…) ËÛà …Û¾Û …Ûþù¾Ûà ÜþùÅÐüà ÜÍ¬Û©Û ‘µÛà ÍÛÛ¾ÛÛÜ›÷ïõ ÍÛ¾Û¬ÛÙ¶Û ÜÅÛÜ¾Û¤éø¦ø’ ¶Ûé ïõ¾ÛÙ˜ÛÛÁõà ©ÛÁõàïéõ ÍÛéÈÛÛ …Û¸Ûé 

™öé. ¶Ûà˜Ûé¶Ûà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà ©Ûé¾Û¶Ûà …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø¶Ûà ïõÁõ¸ÛÛªÛ …ÛÈÛïõ …¶Ûé ïõÅÛ¾Û 

80 ÍÛà Ðéü¥øÇ ïõ¸ÛÛ©Û¶Ûé ¸ÛÛªÛ Áõïõ¾Û ÉÛÛéµÛÛé : 7 

  ¾ÛæÇ ¸Û•ÛÛÁõ ` 3,00,000; ¾ÛÛê–ÛÈÛÛÁõà ½Û¬¬Ûä× ` 1,50,000; –ÛÁõ ½ÛÛ¦øÛ ½Û¬¬Ûä× ` 1,00,000; ¾Û¶ÛÛéÁ×õ›÷¶Û 
½Û¬¬Ûä× ` 25,000; …×•Û©Û ¶ÛÛéïõÁõÛé¶Ûà ÍÛéÈÛÛ (¸Û•ÛÛÁõ ¾ÛÛÜÅÛïõ ˜ÛæïõÈÛé ™öé.) ` 48,000; þùÛî©ÛÁõà ÍÛÛÁõÈÛÛÁõ 
` 15,000; ¤éøÅÛàºõÛé¶Û Ü¼ÛÅÛ ` 12,000; µÛ×µÛÛïõàýÛ …¶Ûé …×•Û©Û ¼Û×¶Ûé Ðéü©Ûä ¾ÛÛ¤éø ¦ÖøÛˆÈÛÁõ ÍÛÛ¬Ûé¶Ûà 

¾ÛÛÜÅÛïõ¶Ûà ¾ÛÛÜÅÛïõà¶Ûà ¶ÛÛ¶Ûà ïõÛÁõ (”Û˜ÛÙ ¾ÛÛÜÅÛïõ ˜ÛæïõÈÛé ™öé.) ©Ûé¾Û¶ÛÛé …¶Ûé ¾ÛÛÜÅÛïõ¶ÛÛé (þùÁéõïõ¶ÛÛé) 

…¾ÛÛ¶ýÛ ½ÛÜÈÛÌýÛ Ü¶ÛÜµÛ¾ÛÛ× ºõÛÇÛé ` 20,000; ˜ÛæïõÈÛéÅÛ ÈýÛÈÛÍÛÛýÛ ÈÛéÁõÛé ` 2,400; ˜ÛæïõÈÛéÅÛ …ÛÈÛïõÈÛéÁõÛé 

` 35,000; ÁõÛÌ¤ÖøàýÛïèõ©Û ¼Ûêïõ¾ÛÛ× ¸ÛÛ×˜Û ÈÛÌÛÙ ¾ÛÛ¤éø ¾ÛæïéõÅÛà Ü¦ø¸ÛÛé¡öà¤ø ` 50,000; ÁõÛÌ¤ÖøàýÛ ¼Û˜Û©Û ¸ÛªÛÛé¾ÛÛ× 
ÁõÛéïõÛ¨Û ` 20,000; ¾ÛïõÛ¶Û ÅÛÛé¶Û ¸ÛÁõ ˜ÛæïõÈÛéÅÛ ‘ÍÛ¾ÛÛ¶Û ¾ÛÛÜÍÛïõ Ðü¸©ÛÛ’ ` 48,000 (50% ÈýÛÛ›÷). 

  ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û (ÍÛæ˜Ûïõ …Û×ïõ 852) ©Ûé¾Û¨Ûé ¡öÈÛéÁõÛ©Û ` 7,00,000 ¾ÛÛ× ÈÛé˜ýÛä× Ðü©Ûä×, ›÷é ©Ûé¾Û¨Ûé ¶ÛÛ.ÈÛ. 
2000-01 (ÍÛæ˜Ûïõ …Û×ïõ 406) ¾ÛÛ× ` 2,03,000¾ÛÛ× ”ÛÁõàþéùÅÛ …¶Ûé ` 3,00,000 NHAI¶ÛÛ ªÛ¨Û 
ÈÛÌÛâýÛ ¼ÛÛê¦ø¾ÛÛ× ÁõÛéïéõÅÛ ™öé.  

 (¼Û) (1) ÈýÛÜî©Û•Û©Û ïõÁõþùÛ©ÛÛ ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûà ¾ÛïõÛ¶Û-Ü¾ÛÅÛïõ©Û¶Ûä× ÈÛé˜ÛÛ¨Û ïõÁõÈÛÛ¬Ûà ¸ÛóÛ¸©Û ïõÁéõÅÛ ¾Ûæ¦øà ¶ÛºõÛ 

…×•Ûé ïõÁõÈÛéÁõÛ¶Ûà ›÷ÈÛÛ¼ÛþùÛÁõà –Û¤øÛ¦øÈÛÛ ïõýÛÛ ÈÛíéïõÜÅ¸Ûïõ …ÛýÛÛé›÷¶Û ïõÁõà ÉÛïéõ ?  2 

  (2) ïõÅÛ¾Û 80 ÍÛà Ðéü¥øÇ ¾ÛÛ¶ýÛ ÐüÛéýÛ ©ÛéÈÛÛ ïõÛéˆ¸Û¨Û 6 ¶ÛÛ¨ÛÛïõàýÛ ÍÛÛµÛ¶ÛÛé¶Ûà ýÛÛþùà ©Ûé¶Ûà ¾ÛÛ¶ýÛ 

ÈýÛÜî©Û•Û©Û …¶Ûé ïäõÅÛ ¾ÛýÛÛÙþùÛ ÍÛÛ¬Ûé ¼Û¶ÛÛÈÛÛé.  2 

…¬ÛÈÛÛ  



TP-110 3 P.T.O.  

 (¼Û) ¶Ûà˜Ûé¶Ûà ¸Ûé¤øÛ ïõÅÛ¾ÛÛé Ðéü¥øÇ¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé  ƒ (•Û¾Ûé ©Ûé ˜ÛÛÁ)  4 

  (1) U/S 80/G þùÛ¶Û ïéõ µÛ¾ÛÛÙþùÛ 

  (2) U/S 80/D þùÛî©ÛÁõà ÍÛÛÁõÈÛÛÁõ¶ÛÛ ÈÛà¾ÛÛ¶Ûä× ¸ÛóàÜ¾ÛýÛ¾Û  

  (3) U/S 80/E Š˜˜Û ÜÉÛ“Û¨Û ¾ÛÛ¤éø¶Ûà ÅÛÛé¶Û¶Ûä× ˜ÛæïõÈÛéÅÛ ÈýÛÛ›÷  

  (4) U/S 90/U …×µÛ, …¸Û×•Û, ¾Û×þù ¾ÛÛ¶ÛÜÍÛïõ ÜÈÛïõÛÍÛ µÛÁõÛÈÛ©ÛÛ× ïõÁõþùÛ©ÛÛ¶Ûé ¾ÛÇÈÛÛ¸ÛÛªÛ ïõ¸ÛÛ©Û 

  (5) U/S 80/DDB ïõÁõþùÛ©ÛÛ ïéõ ©Ûé¾Û¶ÛÛ ¸ÛÁõ …ÛµÛÛÜÁõ©Û ÈýÛÜî©Û¶Ûà Š•Ûó/ÍÛ”Û©Û/…ÛïõÁõà ¾ÛÛ×þù•Ûà¶Ûà 
ÍÛÛÁõÈÛÛÁõ ¾ÛÛ¤éø ïõÁéõÅÛ ”Û˜ÛÙ 

  (6) U/S 89 ¾ÛÇÈÛÛ¶ÛÛé ¼ÛÛïõà ¸Û•ÛÛÁõ  

 (ïõ) ÍÛ¾Û›ÛÈÛÛé  ƒ (•Û¾Ûé ©Ûé ªÛ¨Û) 3 

  (1) ¶ÛÛ¨ÛÛïõàýÛ ÁõÛéïõÛ¨Û …ÛýÛÛé›÷¶Û¶ÛÛ ÍÛÛµÛ¶Û ©ÛÁõàïéõ ‘›ÛÐéüÁõ ½ÛÜÈÛÌýÛ Ü¶ÛÜµÛ’  

  (2) ¶ÛÛ¨ÛÛ× ïõ¾ÛÛÈÛÈÛÛ ïõÁõ©ÛÛ× ¶ÛÛ¨ÛÛ×¶ÛÛ ÁõÛéïõÛ¨Û ¾ÛÛ¤éø ÈÛµÛä …ÛÈÛ¦ø©Û …¸ÛéÜ“Û©Û ™öé.  

  (3) ”Ûé©Ûà¶Ûà ›÷¾Ûà¶Û …×•Ûé ïõÁõ ÁõÛÐü©Û  

  (4) ¶ÛÛ¨ÛÛïõàýÛ ÁõÛéïõÛ¨Û …ÛýÛÛé›÷¶Û¶ÛÛ ÍÛÛµÛ¶Û ©ÛÁõàïéõ ‘œ÷ÈÛ¶Û ÈÛà¾ÛÛ ¸ÛÛéÜÅÛÍÛà’  

 
3. (…) ÈýÛÛ”ýÛÛ …Û¸ÛÛé : (•Û¾Ûé ©Ûé ÍÛÛ©Û) 7 

  (1) ”ÛÛ¶Û•Ûà ï×õ¸Û¶Ûà  

  (2) ›ÛÐéüÁõ ï×õ¸Û¶Ûà  

  (3) ÍÛÁõïõÛÁõà ï×õ¸Û¶Ûà  

  (4) ÜÈÛþéùÉÛà ï×õ¸Û¶Ûà  

  (5) ¾ÛýÛÛÙÜþù©Û ›÷ÈÛÛ¼ÛþùÛÁõà ÍÛÛ¬Ûé¶Ûà / ÈÛÛÇà ï×õ¸Û¶Ûà  

  (6) …¾ÛýÛÛÙÜþù©Û ï×õ¸Û¶Ûà   

  (7) ¾Ûä”ýÛ …¶Ûé •ÛÛíé¨Û ï×õ¸Û¶Ûà  

  (8) …´ùÉýÛ ¬Û©Ûà / ÅÛÛé¸Û ¬Û©Ûà / ¶ÛÛÉÛ ¸ÛÛ¾Û©Ûà ï×õ¸Û¶Ûà  

  (9) Š©¸ÛÛþùïõ ï×õ¸Û¶Ûà  

    …¬ÛÈÛÛ  

 (…) (1) ÍÛ¾Û›ÛÈÛÛé : ï×õ¸Û¶Ûà¶ÛÛ ÁõÐéü¥øÛ¨Û¶ÛÛ þùÁõš›Û¶ÛÛ …ÛµÛÛÁéõ ïõÁõ …ÛýÛÛé›÷¶Û. 3 

  (2) ÜÈÛ•Û©Ûé ÍÛ¾Û›ÛÈÛÛé : ¾Ûæ¦øà …¶Ûé ¾Ûæ¦øà ¾ÛÛÇ”ÛÛ×¶Ûà Áõ˜Û¶ÛÛ …×•Ûé …ÛýÛÛé›÷¶Û. 4 
 
 (¼Û) ›÷ÈÛÛ¼Û …Û¸ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 4 

  (1) ï×õ¸Û¶Ûà ¾ÛÛ¤éø ÅÛ–Ûä«Û¾Û ÈÛíéïõÜÅ¸Ûïõ ÈÛéÁõÛé  

  (2) ‘Ü¦øÜÈÛ¦×ø¦ø ¶ÛàÜ©Û’¶Ûà ÁõÛéïõÛ¨ÛïõÛÁõÛé, ï×õ¸Û¶Ûà, ÍÛÁõïõÛÁõ …¶Ûé ÉÛéÁõ ¼Û›ÛÁõ ¸ÛÁõ¶Ûà …ÍÛÁõÛé ›÷¨ÛÛÈÛÛé.  

  (3) ïõÁõ …ÛýÛÛé›÷¶Û¶ÛÛ ÍÛÛµÛ¶Û ©ÛÁõàïéõ ‘¾Ûæ¦øà ¾ÛÛÇ”Ûä×’  
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 (ïõ) ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé : (•Û¾Ûé ©Ûé ªÛ¨Û)  3 

  (1) ïõÁõ …ÛýÛÛé›÷¶Û¶ÛÛ ÍÛÛµÛ¶Û ©ÛÁõàïéõ ‘…Û×©ÛÁõ-ï×õ¸Û¶Ûà Ü¦øÜÈÛ¦×ø¦ø’ 

  (2) ïõÁõ …ÛýÛÛé›÷¶Û¶ÛÛ ÍÛÛµÛ¶Û ©ÛÁõàïéõ ‘¸ÛÁõ©Û ïõÁõÈÛÛ¶Ûé ¸ÛÛªÛ ¼ÛÛé¶ÛÍÛ Ü¦ø¼Ûê˜ÛÍÛÙ’  

  (3) …éïõàïõÁõ¨Û (Amalgamation) …×•Ûé ïõÁõ …ÛýÛÛé›÷¶Û 

  (4) ›ä÷þùÛ/ÜÈÛ”Ûä¤øÛ ¸Û¦øÈÛÛ (De-merger) …×•Ûé ïõÁõ …ÛýÛÛé›÷¶Û 
 

4. (…) (1) ÈýÛÛ”ýÛÛ …Û¸ÛÛé : ¾ÛÐéüÍÛæÅÛà ”Û˜ÛÙ …¶Ûé ¾Ûæ¦øà ”Û˜ÛÙ 1 

  (2) ¶Ûà˜Ûé¶ÛÛ ÜÈÛïõÅ¸ÛÛé …×•Ûé ïõÁõ …ÛýÛÛé›÷¶Û …¶Ûé ÍÛ×˜ÛÛÅÛïõàýÛ Ü¶Û¨ÛÙýÛ ¸ÛÁõ …ÍÛÁõ ïõÁõ©ÛÛ× ¸Û¦ø©ÛÁõ¶ÛÛ× 
©Û«ÈÛÛé¶Ûà ýÛÛþùà ¼Û¶ÛÛÈÛÛé : (•Û¾Ûé ©Ûé ªÛ¨Û) 6 

   (i) ¼Û¶ÛÛÈÛÈÛä× ïéõ ”ÛÁõàþùÈÛä×  

   (ii) ”ÛÁõàþùÈÛä× ïéõ ½ÛÛ¦øÛ ¸Ûaéø ÅÛéÈÛä×  

   (iii) ›ÛÇÈÛÈÛä× ïéõ ¼ÛþùÅÛÈÛä×  

   (iv) Ü¶ÛïõÛÍÛ ïõÁõÈÛà ïéõ Í¬ÛÛÜ¶Ûïõ ÈÛé˜ÛÛ¨Û ïõÁõÈÛä×  

   (v) ¬ÛÛé¦øÛ ÍÛ¾ÛýÛ ¾ÛÛ¤éø ¼Û×µÛ ÁõÛ”ÛÈÛä× ïéõ ïõÛýÛ¾Ûà ¼Û×µÛ ïõÁõÈÛä×  

   (vi) ÁõÛéïõÛ¨Û ïõÁõÈÛä× ïéõ ÁõÛéïõÛ¨Û ¸ÛÛ™ä×ö ”Ûê˜Ûà ÅÛéÈÛä×  

…¬ÛÈÛÛ  

 (…) ¶ÛàÜ©Û¾Û«ÛÛ ÜÅÛÜ¾Û¤éø¦ø ¸ÛÛ×˜Û ÈÛÌÛÙ ¾ÛÛ¤éø …éïõ ¶ÛÈÛä× ýÛ×ªÛ ”ÛÁõàþùÈÛÛ ˆ˜™öé ™öé ©Ûé ¾ÛÛ¤éø¶ÛÛ Š¸ÛÅÛ¼µÛ ¼Ûé 
ÜÈÛïõÅ¸ÛÛé¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 7 

ÜÈÛ•Û©ÛÛé  ýÛ×ªÛ  ƒ ÍÛ¾Û¸ÛÙ̈ Û  ýÛ×ªÛ  ƒ ¸ÛóÜ©Û¼Û±ù©ÛÛ  

ýÛÛé›÷¶ÛÛ¶Ûä× ¾ÛæÅýÛ (`) 6,00,000 8,00,000 

…×þùÛœ÷ …ÛýÛäÌýÛ  6 ÈÛÌÛÙ 7 ÈÛÌÛÙ 

…Û”ÛÁõ (½Û×•ÛÛÁõ) Ýïõ¾Û©Û (`) 1,00,000 1,00,000 

¾Ûæ¦øà¶Ûà ¸Û¦ø©ÛÁõ  10% 10% 

…¸ÛéÜ“Û©Û ÈÛÛÜÌÛÙïõ –ÛÍÛÛÁõÛ ¸ÛÐéüÅÛÛ×¶ÛÛé 
ïõÛ¾Û•ÛàÁõà ¶ÛºõÛé (`) 

                          
2,20,000 

                              
2,60,000 

  ¶Ûà˜Ûé¶Ûà ¸Û±ùÜ©Û…Ûé ¸Ûó¾ÛÛ¨Ûé ©Û¾ÛÛÁéõ Ü¶Û¨ÛÙýÛ ÅÛéÈÛÛ¶ÛÛé ™öé : 

  ¸ÛÁõ©Û-…¸Û ÍÛ¾ÛýÛ; ¶ÛºõÛïõÛÁõïõ©ÛÛ¶ÛÛé …Û×ïõ; …Û×©ÛÜÁõïõ ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ; ÁõÛéïõÛ¨Û ¸ÛÁõ ÍÛÁéõÁõÛÉÛ ÈÛÇ©ÛÁõ¶ÛÛé 
þùÁõ  

 

 (¼Û) ¸ÛóÈÛ©ÛÙ¾ÛÛ¶Û ¾Û×þùà¾ÛÛ× …éïõ ÈÛÍ©Ûä¶Ûà ÈÛé˜ÛÛ¨Û Ýïõ¾Û©Û …¶Ûé ¾ÛÐéüÍÛæÅÛà ”Û˜ÛÙ ` 100 ™öé. ÈÛÛÜÌÛÙïõ ÜÍ¬ÛÁõ ”Û˜ÛÙ 
` 1,20,000 ™öé. ¤æ×øïõ ÍÛ¾ÛýÛ¾ÛÛ× …¬ÛÙ©Û×ªÛ ÍÛäµÛÁõÉÛé ©ÛéÈÛà …¸Ûé“ÛÛ ™öé. µÛ×µÛÛé …¾Ûäïõ ÍÛ¾ÛýÛ ¾ÛÛ¤éø ïéõ 
ïõÛýÛ¾Û ¾ÛÛ¤éø ¼Û×µÛ ïõÁõÈÛÛé ›Ûéˆ…é ? ïõÛÁõ¨ÛÛé ÍÛÛ¬Ûé ›÷ÈÛÛ¼Û …Û¸ÛÛé.  4 

…¬ÛÈÛÛ  
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 (¼Û) …éïõ µÛ×µÛÛïõàýÛ …éïõ¾Û Í¬ÛÛÜ¸Û©Û Š©¸ÛÛþù¶Û ÉÛÜî©Û¶ÛÛ× 80%¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà 8,000 …éïõ¾ÛÛé¶Ûä× Š©¸ÛÛþù¶Û 
ïõÁõà …éïõ¾Ûþùà¥ø ` 100¶ÛÛ ½ÛÛÈÛé Í¬ÛÛÜ¶Ûïõ ¼Û›ÛÁõ¾ÛÛ× ÈÛé˜Ûé ™öé. ¾ÛÐéüÍÛæÅÛà ”Û˜ÛÙ ` 80 …¶Ûé ÈÛÛÜÌÛÙïõ 
ÜÍ¬ÛÁõ ”Û˜ÛÙ ` 1,00,000 ™öé.  4 

  …ÛÈÛïõÈÛéÁõÛ¶ÛÛé …ÍÛÁõïõÛÁõïõ þùÁõ Í¬ÛÛÜ¶Ûïõ ¼Û›ÛÁõ …¶Ûé ÜÈÛþéùÉÛà ¼Û›ÛÁõ¶ÛÛ ¶ÛºõÛ ¸ÛÁõ …¶Ûä’õ¾Ûé 30% 
…¶Ûé 0% ™öé. µÛ×µÛÛïõàýÛ …éïõ¾Û¶Ûé Í¬ÛÛÜ¶Ûïõ ¼Û›ÛÁõ¾ÛÛ×¬Ûà ` 95 …¶Ûé ÜÈÛþéùÉÛà ¼Û›ÛÁõ¾ÛÛ×¬Ûà ` 85 ¶ÛÛ 
½ÛÛÈÛé ¸Ûæ™ö¸ÛÁõ™ö ¾ÛÇéÅÛ ™öé.  

  ïõÛÁõ¨ÛÛé ÍÛÜÐü©Û ©Û¾ÛÛÁõÛé ËÛéÌ¥ø Ü¶Û¨ÛÙýÛ ›÷¨ÛÛÈÛÛé.  

 

 (ïõ) ¼Ûé …¬ÛÈÛÛ ªÛ¨Û ÈÛÛîýÛÛé¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé  ƒ (•Û¾Ûé ©Ûé ªÛ¨Û) 3 

  (1) ¾Ûæ¦øà ¼Û›÷é¤ø¶ÛÛ Ü¶Û¨ÛÙýÛ¾ÛÛ× ïõýÛÛ ÍÛ×›Ûé•ÛÛé¾ÛÛ× ¶ÛºõÛïõÛÁõïõ©ÛÛ¶ÛÛ …Û×ïõ¶ÛÛé Š¸ÛýÛÛé•Û ¬Ûˆ ÉÛïéõ ? 

  (2) …•ÛÛŠ¬Ûà ÈÛéÁõÛé ˜ÛæïõÈÛÈÛÛ¶Ûé ¸ÛÛªÛ ¬Û©Ûà …ÛÈÛïõ.  

  (3) …ÛÈÛïõÈÛéÁõÛ¶ÛÛ Áõàº×õ¦ø ¸ÛÁõ ïõÁõþùÛ©ÛÛ¶Ûé ˜ÛæïõÈÛÈÛÛ ¸ÛÛªÛ ÈýÛÛ›÷.  

  (4) ïõÅÛ¾Û 234 …é: …ÛÈÛïõ¶Ûä× Áõà¤ø¶ÛÙ ½ÛÁõÈÛÛ/›÷¾ÛÛ ïõÁõÈÛÛ¶Ûà Ü¶ÛÌºõÇ©ÛÛ …×•Ûé¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé. 

  (5) ïõÅÛ¾Û 234 ¼Ûà: …•ÛÛŠ¬Ûà ˜ÛæïõÈÛÈÛÛ¶ÛÛé ¬Û©ÛÛé ÈÛéÁõÛé ½ÛÁõÈÛÛ¶Ûà Ü¶ÛÌºõÇ©ÛÛ …×•Ûé ›Ûé•ÛÈÛÛˆ…Ûé.  

 

5. ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ÍÛÛ¬Ûé …Û¸ÛéÅÛ ÜÈÛïõÅ¸ÛÛé ¸Ûíéïõà¶ÛÛ ÍÛÛ˜ÛÛ ÜÈÛïõÅ¸Û¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõÛé : 14 

 (1) ïõÅÛ¾Û 54 EC: ïõÁõþùÛ©ÛÛ…é ¸ÛóÛ¸©Û ïõÁéõÅÛ ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶ÛÛ ¾Ûæ¦øà ¶ÛºõÛ¾ÛÛ×¬Ûà, Ü¾ÛÅÛïõ©Û ÈÛé˜ÛÛ¨Û¶ÛÛ 6 
¾ÛÛÍÛ¾ÛÛ× ` 50,00,000 ÍÛäµÛà¶Ûà Áõïõ¾Û¶Ûä× NHAI …¶Ûé/…¬ÛÈÛÛ REC¶ÛÛ ªÛ¨Û ÈÛÌÛâýÛ ¼ÛÛê¦ø¾ÛÛ× ïõÁéõÅÛä× 
ÁõÛéïõÛ¨Û ïõÁõ¾ÛäÜî©Û¶ÛÛé ÅÛÛ½Û ¾ÛéÇÈÛÉÛé. ›Ûé …ÛÈÛÛé ™ö ¾ÛÜÐü¶ÛÛ¶ÛÛé ÍÛ¾ÛýÛ•ÛÛÇÛé ¼Ûé ›ä÷þùÛ×-›ä÷þùÛ× …ÛïõÛÁõ¨Ûà 
ÈÛÌÛÙ¾ÛÛ× …ÛÈÛ©ÛÛé ÐüÛéýÛ ©ÛÛé ïõÁõþùÛ©ÛÛ ¼Û¾Û¨Ûà Áõïõ¾Û¶ÛÛé ÅÛÛ½Û ÅÛˆ ÉÛïéõ, …Û ÜÈÛµÛÛ¶Û _________ ™öé. 

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  

 

 (2) ¤æ×øïõÛ•ÛÛÇÛ¶Ûà ¾Ûæ¦øà ”ÛÛé¤ø ›÷é-©Ûé ¸ÛÛ™öÅÛÛ ÈÛÌÛÙ¶ÛÛ ¤æ×øïõÛ …¶Ûé ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶ÛÛ ¾Ûæ¦øà ¶ÛºõÛ ÍÛÛ¾Ûé šýÛÛÁéõ 
ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûà ¾Ûæ¦øà ”ÛÛé¤ø ºõî©Û ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶ÛÛ ¾Ûæ¦øà ¶ÛºõÛ ÍÛÛ¾Ûé ¾Û›÷Áéõ ¾ÛÇà ÉÛïéõ, …Û ÜÈÛµÛÛ¶Û 
________ ™öé.  

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  
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 (3) ÜÉÛ“Û¨Û …¶Ûé ÐüÛéÍ¤éøÅÛ ½Û¬¬Ûä× ¼ÛÛÇïõ þùà¥ø …¶Ûä’õ¾Ûé ¾ÛÜÐü¶Ûé ` 100 …¶Ûé 300 ¶Ûà ¾ÛýÛÛÙþùÛ¾ÛÛ× ¼Ûé 
¼ÛÛÇïõÛé ÍÛäµÛà ïõÁõ¾Ûäî©Û ™öé. …Û ÜÈÛµÛÛ¶Û _______ ™öé.  

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  

 

 (4) ¾ÛÛÇ”ÛÛïõàýÛ ÍÛäÜÈÛµÛÛ ¸ÛæÁõà ¸ÛÛ¦ø©ÛÛ µÛ×µÛÛïõàýÛ …éïõ¾Û¶ÛÛ× ªÛ¨Û ÈÛÌÛâýÛ ¼ÛÛê¦ø¾ÛÛ× ÁõÛéïéõÅÛ Áõïõ¾Û …×•Ûé 
…ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2012-13¾ÛÛ× ïõÛéˆ ïõÁõ ÅÛÛ½Û ¾ÛÇÉÛé ¶ÛÐüá. …Û ÜÈÛµÛÛ¶Û _______ ™öé.  

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  

 

 (5) ¶ÛÛêµÛÛýÛéÅÛ ÉÛéÍÛÙ¶ÛÛ ÈÛé˜ÛÛ¨Û¬Ûà ¬ÛýÛéÅÛÛé ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶ÛÛé ¾Ûæ¦øà ¶ÛºõÛé ›Ûé ›Û¾Ûà¶Û•ÛàÁõà ºéõÁõ¼ÛþùÅÛà ÈÛéÁõÛé 
˜ÛæïõÈÛéÅÛ ÐüÛéýÛ ©ÛÛé ïõÁõ¾Ûäî©Û ™öé. …Û ÜÈÛµÛÛ¶Û ______ ™öé.  

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  

 

 (6) ¾Ûæ¦øà ¶ÛºõÛ¾ÛÛ×, ¼ÛÛé¶ÛÍÛ ÉÛéÍÛÙ ›Ûé 1-4-1981 ¸ÛÐéüÅÛÛ ¾ÛéÇÈÛéÅÛ ÐüÛéýÛ ©ÛÛé 1-4-1981¶ÛÛ ÁõÛé›÷¶Ûà ÈÛÛ›÷¼Ûà 
¼Û›ÛÁõ Ýïõ¾Û©Û ©Ûé¶Ûà ¸Û¦ø©ÛÁõ •Û¨ÛÛýÛ …¶Ûé ›Ûé 1-4-1981 ïéõ ©ýÛÛÁõ ¸Û™öà ¾ÛéÇÈÛéÅÛ ÐüÛéýÛ ©ÛÛé ©Ûé¶Ûà 
¸Û¦ø©ÛÁõ ÉÛæ¶ýÛ •Û¨ÛÛýÛ. …Û ÜÈÛµÛÛ¶Û ______ ™öé. 

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  

 

 (7) ”ÛÛÍÛ …ÛÜ¬ÛÙïõ ÜÈÛÍ©ÛÛÁõ …¬ÛÈÛÛ Š«ÛÁõ-¸ÛæÜÈÛÙýÛ ÁõÛšýÛÛé¾ÛÛ× Í¬ÛÛ¸ÛÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ µÛ×µÛÛïõàýÛ …éïõ¾Û ïõÁõ 
¾ÛäÜî©Û¶ÛÛ ÅÛÛ½Û ¾ÛéÇÈÛà ÉÛïéõ. …Û ÜÈÛµÛÛ¶Û ______ ™öé. 

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  
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 (8) …×•Û©Û ÈÛ¸ÛÁõÛÉÛ¶ÛÛ ¾ÛïõÛ¶Û¶Ûà ”ÛÁõàþùà ïéõ ¼ÛÛ×µÛïõÛ¾Û ÅÛÛé¶Û¶Ûä× ÈýÛÛ›÷ ¸Û•ÛÛÁõ¶Ûà …ÛÈÛïõ ÍÛÛ¾Ûé ¸Û¨Û ¼ÛÛþù 
¾ÛÇà ÉÛïéõ. …Û ÜÈÛµÛÛ¶Û ______ ™öé.  

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  

  

 (9) ÁõÛÐü©Û (ïõÁõÈÛéÁõÛ¾ÛÛ×) …é …éïõ ¸ÛóïõÛÁõ¶Ûä× ¸ÛóÛé©ÍÛÛÐü¶Û ™öé ›÷é ÈýÛÜî©Û•Û©Û …¶Ûé µÛ×µÛÛïõàýÛ ïõÁõþùÛ©ÛÛ¶ÛÛ 
ÈÛéÁõÛ¶ÛÛ ¼ÛÛé›Û¾ÛÛ× –Û¤øÛ¦øÛé ïõÁéõ ™öé. …Û ÜÈÛµÛÛ¶Û ______ ™öé.  

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  

 

 (10) ÈÛ©ÛÙ¾ÛÛ¶Û …ÛÈÛïõ ¾ÛéÇÈÛÈÛÛ …×•Ûé ¬ÛýÛéÅÛ ”Û˜ÛÙ ¾ÛÛ¤éø …¶Ûé ½ÛÜÈÛÌýÛ¾ÛÛ× …ÛÈÛïõ ¾ÛÇà ÉÛïéõ ©ÛéÈÛÛ ÁõÛéïõÛ¨Û 
¾ÛÛ¤éø ÍÛÛ¾ÛÛ¶ýÛ Áõà©Ûé ïõÁõ ïõ¸ÛÛ©Û …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. …Û ÜÈÛµÛÛ¶Û ______ ™öé.  

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  

 

 (11) ½ÛÛÁõ©ÛàýÛ ï×õ¸Û¶Ûà¶Ûä× Ü¦øÜÈÛ¦×ø¦ø ÁõÛéïõÛ¨ÛïõÛÁõÛé ¾ÛÛ¤éø ïõÁõ¾Ûäî©Û ™öé šýÛÛÁéõ ï×õ¸Û¶Ûà…é Ü¦øÜÈÛ¦×ø¦ø ÈÛÐêü˜Û¨Ûà ÈÛéÁõÛé 
½ÛÁõÈÛÛé ¸Û¦éø ™öé. …Û ÜÈÛµÛÛ¶Û ______ ™öé.   

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  

 

 (12) ï×õ¸Û¶Ûà ¸ÛÁõ¶ÛÛ ÅÛ–Ûä«Û¾Û ÈÛíéïõÜÅ¸Ûïõ ÈÛéÁõÛ¶ÛÛé þùÁõ 18% ™öé. …Û ÜÈÛµÛÛ¶Û ______ ™öé.  

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  
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 (13) ¾Ûæ¦øà Áõ˜Û¶ÛÛ ¾ÛÛ¤éø ¶ÛÛ¨ÛÛïõàýÛ ¸Û¦ø©ÛÁõ …ÍÛÁõïõÛÁõïõ ¸ÛÜÁõ¼ÛÇ ™öé. …Û ÜÈÛµÛÛ¶Û ______ ™öé. 

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  
 
 (14) ¸ÛóÈÛ©ÛÙ¾ÛÛ¶Û ÈýÛÛ›÷¶ÛÛé þùÁõ + ›Ûé”Û¾Û¶ÛÛ ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ = ÁõÛéïõÛ¨Û ¸ÛÁõ …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ. …Û 

ÜÈÛµÛÛ¶Û ______ ™öé. 

  (A) ÍÛÛ˜Ûä× 

  (B) ”ÛÛé¤ä×ø 

  (C) …µÛäÂ×ú  
__________ 
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502 – TAX PLANNING AND MANAGEMENT 
 
 

Time :  3 Hours]  [Max. Marks : 70 
 

 
Instructions : (1) Exact answers are expected. 

    (2) Figures in the brackets at the right side indicates maximum marks for the 
correct answer. 

    (3) Required calculations will be considered as a part of the answer. 

    (4) Clear Gujarati synonyms of many English words are available, so 
consider English words for correct clarification of question. 

    (5) The sections/Sub-sections mentioned in the question paper are of The 
Income Tax Act, 1961. 

 
 

1. (A) Define with examples : Tax Evasion, Tax Avoidance, Tax Planning. 7 

OR 

 (A) List the objectives of Tax Planning and methods of Tax Planning for an individual. 
 

 (B) Answer in brief : (any two)  4 

  (1) Explain : Residential status and Tax Planning. 

  (2) Explain with example : How a Non-Resident Indian can exercise Tax 
Planning ? 

  (3) Effects of Tax Avoidance on The Government. 
 

 (C) Answer in two or three lines : (any three) 3 

  (1) Explain : Tax Avoidance is legal but not ethical. 

  (2) Explain : Tax Planning may reduce the tax liability. 

  (3) Explain : Higher rate of taxation invites practicing tax evasion. 

  (4) Explain : Tax Management. 
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2. (A) How an effective Tax planning can be practiced either by an employer (to favour 
its employee) or by an individual assessee for the following allowances / 
perquisites / benefits / transactions ? 7 

  (1) Sale of the used assets to the employee. 

  (2) Medical Aid instead of Medical Allowance. 

  (3) Education to the children of the employee at the academic institute being 
owned and/or managed by the employer. 

  (4) Contribution to Recognised Provident Fund. 

  (5) Leave Travel Concession / Allowance. 

  (6) Food Coupons instead of Lunch Allowance. 

  (7) Stock Option : Shares in lieu of Bonus 

     OR 

 (A) Mr. Aam Aadami is serving of Delhi in ‘The Samajik Samarthan Limited’ as an 
employee. Calculate his taxable income and eligible deduction U/S 80 C for the 
AY 2013-14 from the following information : 7 

  Basic Salary ` 3,00,000; Dearness Allowance ` 1,50,000; House Rent Allowance     
` 1,00,000; Entertainment Allowance ` 25,000; Services of the Personal Servants 
(salaries paid by the employer) ` 48,000; Medical aid ` 15,000; Telephone bill             
` 12,000; Small Car being owned by the employer with driver for Business and 
Personal use (expenses are paid by the employer); contribution by employee and 
employer to Non-recognised Provident Fund ` 20,000 (each); Professional Tax 
paid ` 2,400; Income Tax paid ` 35,000; Deposited ` 50,000 with a Nationalised 
Bank for five years; Invested ` 20,000 in National Savings Certificates; Paid 
equated monthly installments on Housing Loan ` 48,000 (50% interest). 

  During the year (Index 852) he has sold some jewellery for ` 7,00,000 which were 
purchased for ` 2,03,000 in FY 2000-01 (Index 406) and has invested ` 3,00,000 in 
to the three years’ bonds issued by NHAI. 

 

 (B) (1) Which options are available with an individual to reduce the tax liability for 
Capital Gains earned on sale of Long term House Property ?  2 

  (2) List at-least six qualified financial instruments eligible for the benefit U/S 80 
C with their individual and total limits. 2 

OR 

 (B) Explain the provisions related with the following Under/Sub – Sections in brief : 
(any four)  4 

  (1) U/S 80/G Donation or Charity 

  (2) U/S 80/D Medi-Claim Premium 
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  (3) U/S 80/E Interest paid on loan for higher education 

  (4) U/S 90/U Deductions for Blind, Handicapped, Mentally Retarded assessee 

  (5) U/S 80/DDB Expenses paid for the medical treatment of the assessee and/or 
dependents for severe/critic illness. 

  (6) U/S 89 Salary in Arrears 

 

 (C) Explain (any three) : 3 

  (1) ‘Public Provident Fund’ as financial investment planning instrument 

  (2) Managing your money requires more skill than making it 

  (3) Tax Reliefs on Agricultural Land 

  (4) ‘Life Insurance Policy’ as financial investment planning instrument 

 

3. (A) Define : (any seven)  7 

  (1) Private Company 

  (2) Public Company 

  (3) Government Company 

  (4) Foreign Company 

  (5) Company limited by Guarantee 

  (6) Unlimited Company  

  (7) Holding and Subsidiary Company 

  (8) Vanishing Company 

  (9) Producer Company 

    OR 

 (A) (1) Explain : Tax Planning for a company on the basis of its residential status. 3 

  (2) Explain in detail : Planning for Capital Formation and capital structure. 4 

 

 (B) Answer : (any two)  4 

  (1) Minimum Alternative Tax for corporate 

  (2) Impacts of ‘Dividend Policy’ on Investors, Company, Government and Stock 
Exchange. 

  (3) ‘Capital Structure’ as a tool for Tax Planning. 



TP-110 12  

 (C) Explain in brief : (any three)  3 

  (1) ‘Inter-Corporate Dividends’ as a tool for Tax Planning 

  (2) ‘Redeemable Bonus Debentures’ as a tool for Tax Planning 

  (3) Tax Planning for Amalgamation 

  (4) Tax Planning for Demerger 

 

4. (A) (1) Define : Revenue Expenditure and Fixed Expenditure. 1 

  (2) List the effective cost factors affecting Tax planning and Managerial 
decisions for the following options : (any three) 6 

   (i) Make or Buy 

   (ii) Purchase or Lease 

   (iii) Retain or Replace 

   (iv) Export or Domestic sale 

   (v) Shut-down or Closure 

   (vi) Invest or Dis-invest 

OR 
 (A) Ethics Limited wants to purchase a new machine for a period of five years. 

Following are the details for the available two options : 7 
Particulars Machine : Dedication Machine : Commitment

Project cost (`) 6,00,000 8,00,000 

Expected life 6 years 7 years 

Residual (Scrap) value (`) 1,00,000 1,00,000 

Cost of capital 10% 10% 

Expected annual operating 
profit before depreciation (`) 

                          
2,20,000 

                              
2,60,000 

 

  You are required to take the decision by the following methods : 

  Pay Back Period; Profitability Index; Internal Rate of Return; Average rate of 
return on investment. 

 

 (B) In the prevailing recession, the selling price and the revenue cost of a product is            
` 100. The annual fixed cost is ` 1,20,000. The economy is expected to be 
recovered with in short time. Whether the business may shut-down or close ? 
Answer with reasons. 4 

OR 
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 (B) A business entity uses 80% of its installed production capacity, produces 8,000 
units and sales in the domestic market at a price of ` 100. The revenue cost is ` 80 
with an annual fixed cost of ` 1,00,000. 4 

  The effective rate of Income Tax is 30% and 0% on the profit earned from 
domestic and foreign market respectively. 

  The business has two inquires each from the domestic & foreign market at a price 
of ` 95 and 85 respectively. 

  You have to take the best decision mentioning the reasons. 

 

 (C) Answer in two or three sentences : (any three) 3 

  (1) In Capital Budgeting decision, under which condition the Profitability Index 
may be used ? 

  (2) Income liable for advanced tax. 

  (3) Interest payable to assessee on tax refund. 

  (4) U/S 234 A: Provisions for defaults in furnishing return of income. 

  (5) U/S 234 B: Provisions for defaults in payments of advance tax. 

 

5. Select the correct option from the options given with the following statements : 14 

 (1) U/S 54 EC: Where an assessee has earned a LTCG and has invested it into three 
years’ bonds on NHAI and/or REC within 6 months of transfer, the reinvested 
LTCG up-to ` 50,00,000 is exempted from tax. If the six months’ period falls with-
in two different Assessment Years, an assessee may earn double the benefit. The 
statement is 

  (A) True 

  (B) False 

  (C) Incomplete 

 

 (2) Short Term capital Loss may be set-off against Short Term Capital Gains and Long 
Term Capital Gains of the previous year but Long Term Capital Loss may be set-
off against Long Term Capital Gains only. The statement is 

  (A) True 

  (B) False 

  (C) Incomplete 
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 (3) Education and Hostel allowance are tax free for maximum two children up to ` 100 
and ` 300 per month per child. The statement is 

  (A) True 
  (B) False 
  (C) Incomplete 
 
 (4) Investment made in 3 years’ Infrastructural Bonds will not earn any Income Tax 

benefit for the AY 2012-13. The statement is 
  (A) True 
  (B) False 
  (C) Incomplete 
 
 (5) Long Term Capital Gains on sale of Listed Shares is tax free if STT (Security 

Transaction Tax) has been paid. The statement is 
  (A) True 
  (B) False 
  (C) Incomplete 
 
 (6) Under Capital Gains, If Bonus Shares were acquired before 1-4-981, the Fair 

Market Value as on 1-4-1981 will be considered as the Cost of Acquisition; if 
Bonus Shares were acquired on or after 1-4-1981, zero will be considered as the 
Cost of Acquisition. The statement is 

  (A) True 
  (B) False 
  (C) Incomplete 
 
 (7) Business established at Special Economic Zones or in the North-Eastern States, 

may earn Tax Benefits. The statement is 
  (A) True 
  (B) False 
  (C) Incomplete 
 
 (8) Interest on Housing loan for purchase or construction, being used by the owner as 

his/her residence, may even be set-off against income from salaries. The statement 
is 

  (A) True 
  (B) False 
  (C) Incomplete 



 (9) Relief (in taxation) is an incentive that reduces the amount of tax owed by an 
individual or business entity. The statement is 

  (A) True 
  (B) False 
  (C) Incomplete 
 
 (10) Tax deductions generally are allowed only for expenses incurred that produce 

current benefits and capitalization of items producing future benefits. The 
statement is 

  (A) True 
  (B) False 
  (C) Incomplete 
 
 (11) Dividends from Indian companies are tax free in the hands of investors but the 

companies have to pay the Dividend Distribution Tax. The statement is 
  (A) True 
  (B) False 
  (C) Incomplete 
 
 (12) The rate of Minimum Alternative Tax for companies is 18%. The statement is 
  (A) True 
  (B) False 
  (C) Incomplete 
 
 (13) Financial cost is the effective factor for capital formation. The statement is 
  (A) True 
  (B) False 
  (C) Incomplete 
 
 (14) Prevailing rate of interest + Return of the risk involved = Expected rate of return 

from the investment. The statement is 
  (A) True 
  (B) False 
  (C) Incomplete 
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__________ 
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